






RRB NTPC Stage-2 Exam Pattern

Sections No. of Questions Total Marks Duration

Mathematics 35 35

90 minutes

General Intelligence and 
Reasoning

35 35

General Awareness 50 50

Total 120 120









Find the option which should replace (?)

PARK: ZKPI :: NORM : ?

(A) LMDJ

(B) LMNI 

(C) LNIJ 
(D) LMSJ



7 Delegates are sitting around a circular conference table P , R , S , T , U , 

V and W are the delegates and they grouped to discuss an impending 

meeting. P is the neighbor of Both T and U . S sits on the immediate right 

of U . There is one person sitting between S and W but he is not V.

7 प्रतितिति एक परिपत्र समे्मलि की मेज के चाि ों ओि बैठे हैं, P, R, S, T, U, V औि W

प्रतितिति हैं औि उन् ोंिे आसन्न बैठक पि चचाा कििे के तलए समूहबद्ध तकया। P, T औि

U द ि ों का पड सी है। S, U के ित्काल दायें बैठिा है। S औि W के बीच एक व्यक्ति बैठा

है लेतकि वह V िही ों है।

Who is the neighbor of V ?

V का पड सी कौि है?

(A) P

(B) T 

(C) R
(D) R



Arrange the given words in the alphabetical order.

1. Rhetoric
2. Regret
3. Resignation
4. Record
5. Ratchet

(a) 2, 1, 5, 4, 3
(b) 5, 4, 2, 3, 1
(c) 5, 2, 1, 4, 3
(d) 2, 5, 1, 4, 3



Find the option which should replace (?)

CAB = 13
FEED = 41
JADE = ?

A. 35
B. 43
C. 41
D. 45



Find the option which should replace (?)

UNITED : 1/2  :: ORIGIN : ?

A. 2/5
B. 3/5
C. 1/2
D. 3/7



A corner of a napkin is cut . How many corner of that napkin 

survived. 

एक िैपतकि के एक क िे क काट तदया जािा है। उस िैपतकि के तकििे

क िे बचे? 

a) 3

b) 4

c) 5

d) 6



Find the odd one out(?)

A. 2047

B. 4702

C. 6041

D. 4306



Choose the box that is similar to the box formed from the 
given sheet of paper (X).

A.1 only
B.1 and 3 only
C.1, 3 and 4 only
D.1, 2, 3 and 4



Find the option which should replace (?)

A. 176
B. 115
C. 157
D. 131



A man is 24 years older than his son . In two years , his age 
will be twice the age of his son . What is the present age of 
his son ?
एक आदमी अपिे बेटे से 24 साल बडा है। द साल में उिकी उम्र उिके

बेटे से द गुिी ह गी। उिके पुत्र की विामाि आयु क्या है?

A. 20 years

B. 18 years

C. 14 years

D. 22 years



From the given alternative words, select the word which can be formed 

using the letters of the give word :

तदए गए वैकक्तिक शब् ों से, उस शब् का चयि किें  तजसे शब् के अक्षि ों का उपय ग 

किके  बिाया जा सकिा है:

REPLENISHABLE

(1) LIME
(2) REACH
(3) SHINE
(4) PAPER



Find number of triangle in the given figure ?
दी गई आकृति में तत्रभुज की सोंख्या ज्ञाि कीतजए?

(A) 34 

(B) 20 

(C) 24

(D) 16



If in English alphabetical series B means D , C menas 

I , so what will be representation of D ?

यतद अोंगे्रजी वर्ामाला शृ्ोंखला में B का अर्ा D, C मेिस I है, ि 

D का प्रतितितित्व क्या ह गा? 

(A) N

(B) K

(C) P
(D) O



Arrange the words given below in a meaningful sequence

1. Income / आ य
2. Status / स्थिति 
3. Education / ति क्ष ा
4. Well-being / क ल्य ाण  
5. Job / न ौक री

A.1, 2, 5, 3, 4
B.1, 3, 2, 5, 4
C.3, 1, 5, 2, 4
D.3, 5, 1, 2, 4



A school has 2100 students. For every 20 students there is 
one class monitor. The number of monitors in the school is.

एक सू्कल में 2100 छात्र हैं। प्रते्यक 20 छात्र ों के तलए एक मॉतिटि है।
सू्कल में मॉतिटि की सोंख्या है?
(A) 100

(B) 75

(C) 80

(D) 85


